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@. Reduce the following expressions to a single term.

a) 1 —sin?t cos” t b) sec?t—tan?t 1

¢) cot®t— csc? i -1 d) sintsect tant

€) tanx-cscx secx f) (1 —sin? x) sec? x 1

. 2

g) (1 + tan?x) sin’x tar % h) csc? x(1 — cos? x) 1

i) (sec?x— 1) cot?x 1 j) csc? x — cot? x —sin? x cos? x
5. Express each of the following trigonometric ratios in terms of sin x knowing that 0 < x < X.

P g g g 2
sin x
a) cosx 1- sin® x b) tanx __ J1-sin’ x
.Jl - sin® x 1

€) cotx sin x d) secx J1=sin?x
6. Ifsint = 0.6 and %s t <7, deduce the other 5 trigonometric ratios.

cost =-0.8, tant = -%, cott = —g—, sect = -%, csct = %
/T If cost = % and 37“ <t < 2w, deduce the other 5 trigonometric ratios.

i D =3 = =12 =13 =13

smt—m,tant—lz,cott 5,sect—12,csct- 5"

8. Iftant=3and0<t< 2, deduce the other 5 trigonometric ratios.
4 2 8
=3 TR ) -t =3

sect-4,cost-5,smt-5,cott—3,csct— 3"
9. Ifcott= % and %" <t < 2=, deduce the other 5 trigonometric ratios. ;

csct=%3,sint=%32, cost=15—3, tant=¥,sect=%.

10. Simplify the following expressions.

a) sin? x + cos? x ésczx b)
: 1—cos?x

-C) sec?x — tan? x - d)
1—sin?x

11 Simplify the following expressions.
) a) 1-cos’x tan? x b)
1—sin?x
©) (1 + secx)(1 — sec x)_-tan®x d)

1 z. Perform the following operations.

a) 1 + 1 2 sec? x
l+sinx 1-sinx
2
Cos X COs X L
— 2
b) secx +1 secx —1 tan_x

1+ tan?x

tan? x
1+ cot?x
sec?x —1 cot?x 1
csc?x - sinx

1+ tan’x tan? x
1+ cot?x
csc? x — cot? x 62 %

cos?x




